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1    Introduction
RAN4 discussed the UE behaviour when IE p-MAX is absent for 29dBm 5G NR an LTE, and no conclusion was reached in last RAN4 meeting.  In this contribution, we propose to specify 29dBm p-MAX procedure for 5G NR and LTE based on the conclusion of 26dBm UE behaviour.
2    Discussion
· [bookmark: OLE_LINK15][bookmark: OLE_LINK16][bookmark: OLE_LINK5][bookmark: OLE_LINK6]For 5G NR 29dBm P-Max
For IE P-max issue, RAN4 and RAN2 discussed it many times for PC2 and finally reached an agreement. It was agreed that if HPUE UE behaviour was not regulated in this way (UE sends the maximum output power if P-Max is not provided), there will be cell selection issue on the network [1] [2] [3].




Based on the conclusions of RAN4 and RAN2, in order to avoid the issue of 5G NR cell selections in the network, it is necessary for RAN4 to choose the appropriate p-MAX procedure to reduce the risk of network performance degradation. Therefore, RAN4 specifies that the p-MAX procedure for n41, n77, n78, and n79 should follow the same principle as LTE B41.
For 5G NR network, operators can solve regulation issue at the beginning of network construction and set p-MAX instructions to meet regional requirements. We need to keep the possibility of using the 29dBm UE, if we do that limiting UEs to 26dBm for initial access when P-Max is not present in the SIB. We suggest that the requirements for 29dBm should apply if p-MAX is absent for 5G NR.
Proposal 1:For 5G NR 29dBm UE, the requirements for 29dBm should apply If p-MAX is absent.
· For LTE 29dBm P-Max
For LTE 29dBm UE p-MAX, we need to consider two factors, one is the cell selection issue and the other is to avoid the modification of the existing network. Since China mobile has a large number of LTE base stations that are difficult to upgrade existing LTE BS in different provinces, we have tried to put forward many suggestions on this issue in RAN4 and RAN2 for PC2. As we know, these two issues have been discussed many times in LTE and 5G NR for HPUE.  We need to guarantee the possibility of evolution of UE performance based on the existing LTE network. In addition, if the LTE network sets 29dBm IE-Pmax, the cell selection issue will be caused to the existing LTE network. If the operator is required to support 29dBm UE by setting p-max =29 in existing LTE network, it will involve not only the challenge of upgrading the existing network, but also bring the unwanted cell selection issue. CMCC proposes to adopt the same UE behaviour as 5G NR. (The requirements for 29dBm should apply If p-MAX is absent)  
We also respect the regulatory issues faced by other operators. It is necessary for the region with special protection to take some actions to meet regulatory limitation. Operators can set the p-max as 26dBm/23dBm to avoid the use of 29dBm in some countries. There is another important factor to consider here, we do not rule out that there will be higher power UEs than 29dBm in the future, so broadcasting IE-pmax in existing network can better protect countries with regulatory limitation. 
In order to avoid the impact and modification of the existing LTE network, and also to avoid cell selection issue. For LTE 29dBm UE if P-max is absent, we suggest that the corresponding requirements for 29dBm UE shall apply, and operator can set the p-max as 23dBm/26dBm to avoid the use of HPUE in some countries with HPUE regulatory limitation.
Proposal 2: For LTE 29dBm UE if P-max is absent，the corresponding requirements for 29dBm UE shall apply, and operator can set the p-max as 23dBm/26dBm to avoid the use of HPUE in some countries with HPUE regulatory limitation.
3   Conclusions	
In this contribution, we get the following proposals:	
Proposal 1:For 5G NR 29dBm UE, the requirements for 29dBm should apply If p-MAX is absent.
Proposal 2: For LTE 29dBm UE, If P-max is absent，the corresponding requirements for 29dBm UE shall apply. Operator can set the p-max as 23dBm/26dBm to avoid the use of HPUE in some countries with HPUE regulatory limitation.
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